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master maintains that we say 1"92 since 27 are not available
to authenticate it, and these cities are also not frequented.

OVERVIEW

The Wwpn maintains that the np17mn whether we say 1"92 in the case of M>mo
(My%21m1) depends on whether we follow the reason of 7»w% (the p"n, who
does not require 1"92) or W7PY PI¥H 7Y (it is required; 1"). Concerning
My even A" agrees (to the p"n) that we do not say 1"93, since by my?2mn
it is mow.! The Jwpn however does not state specifically why X"1 maintains
that my?2m do say 1"pa. Our mooIn will discuss the reason why &'
maintains that N2 are required to say 1"92.

Generally, if at all possible, it is preferable that a npY?nn should not be based
on factual differences.? It is preferable that the disputing parties agree on the
facts; the dispute should be about differing concepts. The argument whether
the reason of saying 1"92 is on account of 7nw? or on account of 27V R
MPPY PMXN, is a conceptual argument — X1202 NPonn; a disagreement
whether Mo and/or My?21n are WS PROP2 or not (or if M»PY D8N DTV
or not), is a factual argument — NX>XN2 NP2,

moon will offer a possible explanation for the opinion of X"9 (in this X1nX M) that
Moy are required to say 1"93, and then reject it.
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And the reason that X' maintains that My721 are also required to say 1"92
is not because X" is of the opinion that the engulfed cities are also not

frequented;*
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But rather’ the reason that myY2w are required to say 1"92 according to X"

! The X3 does not explicitly state this. It is however self-evident.

2 The reason for this would be; there is no need to argue about the facts, we should merely try to verify

them. In addition, if it is a factual disagreement, then seemingly one of the disputants are definitely wrong.

These two difficulties are avoided in a conceptual argument.

3 This would be in opposition to 3" who will maintain that my%21 are >m°ow.

4 The reason we may have thought (in this X"17) that X" is 2»1» to say 1"92 by My%2m because X? Nw73m

"W, is since the XMa gives only one reason for the 211 to say 1"52 by nw221m1 NM5MO; namely W K7,

This would seemingly apply to 8" by nw>2m (as well as to "7 by n1210).

5 The reason mdoIN rejects the previous interpretation may be because the X3 now preferably maintains
1
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is that we should not differentiate among the overseas cities; to maintain that
some are required to say 1"92 and others are not required. We prefer that all cities in "7

say 1"921 (even if there are 1*p% 11¥n 0°7Y), as not to lead to any confusion.
- 703 SYPYNTI

As is evident later in the x1pon of the X3, that the reason why X" requires 1"92 by
My is an account of *"77Ma P1onn Xow. We may therefore assume that at this point of
the X3 as well (in the X1"mX M17), the same reason applies.

SUMMARY
The reason X"3 requires 1"92 nNR by My?2m in the X" (as in the XIpon) is
not because My?21n are not *°ow (or *1°n3), but rather 0°7 N1>72 PPN ROV,

THINKING IT OVER

1. Why indeed according to the Xipon (where the p"n and 1"7 [seemingly]
have a mxxma np1onn), did not the Xmx say that X" also has a factual
disagreement with "1 (and the p"n) whether myY2mn are *°nn mow?’

2. According to mpoIn that (even) in the X™7 the XA assumed that the
reason why X" requires 1"92 by My?211 is because p1onn Row, then why was
it necessary for the 110 to state it (again)?®

that the dispute between the p"n and 3" is based on the cause of saying 1"92. It is a X1202 npY2nn; not a
mR*¥»a npYomn (whether or not they are PR3 or oW [see ‘Overview’]). If however we were to maintain that
X" argues factually with "9 concerning nM¥721, whether or not N2 are *m°2w, then the entire advantage of
this interpretation is lost. There is no compelling X720 to assume this interpretation. Therefore mdon prefers to
keep the dispute on a conceptual level as opposed to a factual disagreement (in the X" as well).
6 Others change the text to read: 7102 "1wnT>' — ‘as he answers later’. They are seemingly of the opinion
that it is not merely 7102 vnwn; it states so clearly, that the ayv of X" is P12nn X7w Dwn. Our reading of the
text ('vawn1d') will claim however, that indeed later the &7n) states explicitly this reason in the Xipon,
however we cannot be sure that in the X"\ we follow the same reasoning (see footnote # 4). It is only ynwn»;
since later even when we have a factual dispute between the "n and 1"3 concerning N12110, nevertheless the
X3 does not want to carry on this factual npY?2ma to W21 and wants to limit the factual npy2rn as much
as possible. Therefore in the ™71 where there is no factual np12nn between the p"n and 2" (and the basis of
the X" was that this type of np1onn is preferable) there is certainly no need to create a factual npY?mn
between 2"7 and &". See ‘Thinking it over’ # 2.
7 See (x) R"wn.
8 See " # 145.
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